
Visualization of Directed Sets

Visualized Directed Sets

set difference
−→
A := J2(C )− J2(D):

data: C = [−1, 1]2 and D = rB1(0)

visualization: V2(
−→
A ) = positive and mixed-type part
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Figure: difference of directed sets J2([−1, 1]2)− J2(rB1(0)), r = 1
4
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Figure: difference of directed sets J2([−1, 1]2)− J2(rB1(0)), r = 1
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Visualization of Directed Sets

Visualized Directed Sets

set difference
−→
A := J2(C )− J2(D):

data: C = [−1, 1]2 and D = rB1(0)

visualization: V2(
−→
A ) = positive and mixed-type part
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Figure: difference of directed sets J2([−1, 1]2)− J2(rB1(0)), r = 3
4
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Visualization of Directed Sets

Visualized Directed Sets

set difference
−→
A := J2(C )− J2(D):

data: C = [−1, 1]2 and D = rB1(0)

visualization: V2(
−→
A ) = origin and mixed-type part

−2 −1 0 1 2
−2

−1.5

−1

−0.5

0

0.5

1

1.5

2

Figure: difference of directed sets J2([−1, 1]2)− J2(rB1(0)), r = 1
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Visualization of Directed Sets

Visualized Directed Sets

set difference
−→
A := J2(C )− J2(D):

data: C = [−1, 1]2 and D = rB1(0)

visualization: V2(
−→
A ) = only mixed-type part
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Figure: difference of directed sets J2([−1, 1]2)− J2(rB1(0)), r = 5
4
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Visualization of Directed Sets

Visualized Directed Sets

set difference
−→
A := J2(C )− J2(D):

data: C = [−1, 1]2 and D = rB1(0)

visualization: V2(
−→
A ) = origin and mixed-type part
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Figure: difference of directed sets J2([−1, 1]2)− J2(rB1(0)), r =
√

2
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Visualization of Directed Sets

Visualized Directed Sets

set difference
−→
A := J2(C )− J2(D):

data: C = [−1, 1]2 and D = rB1(0)

visualization: V2(
−→
A ) = negative and mixed-type part
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Figure: difference of directed sets J2([−1, 1]2)− J2(rB1(0)), r = 2
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Visualization of Directed Sets

Visualized Directed Sets

set difference
−→
A := J2(C )− J2(D):

data: C = [−1, 1]2 and D = rB1(0)

visualization: V2(
−→
A ) = negative and mixed-type part
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Figure: difference of directed sets J2([−1, 1]2)− J2(rB1(0)), r = 5
2
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